PHYSICS 141 Name: Splufion
Summer 2007

Quiz 1

The multiple choice questions are 2 points each. The problem is worth 10 points.

1. What can be said about the acceleration and velocity of the object?

a) If the velocity is zero at some instant of time then the acceleration has to be zero
at that instant of time

b) If acceleration and velocity point in the same direction, then the object slows
down

¢) Ifacceleration and velocity point in opposite directions, then the object speeds up.

@If acceleration and velocity point in the same direction, then the object speeds up.

2. An object is thrown upward from the top of a building. Which of the following is

true? Assuming the regular x, and y axes, i i
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a) The object’s speed decreases continuously. n4o!
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The object’s velocity decreases continuously. ! 9

c) The object’s acceleration at the top most point of the trajectory is zero Sle pe '8 veqa ve
d) The distance time graph is a straight line.
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3. Which of this is true? = Comat m#1
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a) For a constant acceleration, the X vs t graph is a straight line. o vt =sh OF @L 2
b) For a constant acceleration, the X vs t graph is a horizontal line. (e

For a constant acceleration the acceleration vs t graph is a straight line of zero

cl For a zero acceleration, the V vs t graph is a straight line with non zero slope.
slope.

4. Which of this is true?

a) Acceleration is the slope of the distance time graph

Acceleration is the slope of the velocity time graph.
¢) Velocity is the slope of the acceleration time graph.
d) Distance is the slope of the velocity time graph.

5. An object falls from rest from top of the building. Which of the following is true?
a) The distance covered in each consecutive second decreases as the object falls

down.
he distance covered in each consecutive second increases as the object comes
down.

¢) The distance covered in each consecutive second remains the same.
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PHYSICS 141
Summer 2007

Quiz 1
As student throws a set of keys vertically upward to her sorority sister, who is in a
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window 4 m above. The keys are caught 1.5 s later by the sister’s outstretched hand.
Write the complete equations you use while solving each part.

a) What was the initial velocity of the keys thrown?
A scwme ovnﬁlh on the ayound amnd axes showh - ’;/ \’r#
1}
1

V0w %= hm  bziSs

2
oo Mo Wel) +E 0 ) |
| /-G-8 m )("55) b
L)m: om t Vi ("55} "’}_( /52 A ‘
= Sk =102 I ; j
VLL" = 12—05—25 = 10 b2 m/5 g—-—————l“
I
b) What was the velocity of the keys just before they were caught?
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c¢) Were the keys caught on the way up or on the way down? Explain how you arrived
at the answer. :
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d) What was the maximum height reached by the object.
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tﬁe keys are not caught, then how long does it take for the keys to come down to
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